
68        I

PM

ITEM DESCRIPTION CATALOG #

1 Cap –

2 Lens –

3 O-Ring 250010280011

1-3 Lens Cap Assembly PMLCXX*

4 Body –

5 Screw, #6-32 x ¼" 250012940000

6 Lamp, MR-16 See Lamp Chart p.138–139

7 Socket, MR-16 761600

8 Screw, #4 x ⅝" 250012990000

9 Washer, Ext Tooth, #4 250012980000

10 Bracket, Lamp 250012960000

11 Nut, Hex 2-56 250014290000

12 Strain Relief Connector 250014400000

13 O-Ring 250010280006

14 Long Slot Spike (LSS) 250015840000

Hex Key, 1/ 16" Short Arm 250012950000

*XX = Powder coat color code

4

1

2

3

8

9

10

6

5

5

7

13

14

12

11

PATH LIGHTS



fxl.com     +1 760-744-5240    I    69

PM LED

ITEM DESCRIPTION CATALOG #

1 Cap –

2 Lens –

3 O-Ring 250010280011

1-3 Lens Cap Assembly PMLCXX*

4-6 Color Filter See LED Chart

7-8 Screw, #4-40 x ⅜" See LED Chart

9-11 Reflector See LED Chart

12-15 LED Board See LED Chart

16 Socket, 3-meter 752601

17 Insert –

18 O-Ring 250010280025

19 Retaining Ring 250019110000

20 Screw, #6-32 x ¼" 250012940000

21 Body –

22 O-Ring 250010280006

23 Long Slot Spike (LSS) 250015840000

Hex Key, 1/ 16" Short Arm 250012950000

*XX = Powder coat color code

21

20

1

2

3

4

11

12

7

5

10

13

8

6

9

14 15

17

18

19

16

22

23

PM LED COMPONENTS

ITEM DESCRIPTION CATALOG #

4 1LED Color Filter, Amber 770100

4 1LED Color Filter, Blue 770101

4 1LED Color Filter, Green 770102

5 3LED Color Filter, Amber 770800

5 3LED Color Filter, Blue 770801

5 3LED Color Filter, Green 770802

6 6LED/9LED Color Filter, Amber 771500

6 6LED/9LED Color Filter, Blue 771501

6 6LED/9LED Color Filter, Green 771502

7
1LED/3LED Screw, #4-40 x ⅜"  
(Qty Req: 2)

762400

8
6LED/9LED Screw, #4-40 x 7/16"  
(Qty Req: 3)

250014550000

9 1LED Reflector 770000

10 3LED Reflector 770700

11 6LED/9LED Reflector 771400

11 ZDC LED Reflector 250020690000

12 1LED Board 1LEDULKIT‡

13 3LED Board 3LEDULKIT‡

14 6LED Board 6LEDULKIT‡

15 9LED Board 9LEDULKIT‡

15 ZDC LED Board ZDCKITL**

‡ ZD = Zoneable and dimmable (add ZD to front of part number) 
**  ZDC kit includes LED board, reflector, screws, and flood lens (9LEDFLLENS)

PATH LIGHTS


	AL 
	AN
	AP
	A-RISER
	BD
	BD LED
	BP
	BQ 
	CA
	CA-A
	CB
	CC LED
	CF
	CG
	CL
	CM
	CP
	CP LED
	CR
	CV
	DE LED
	DL
	DL-A
	DM
	DM-A
	DP
	DR 2-TIER
	DR 3-TIER
	DS 2-TIER
	DS 3-TIER
	EA
	EA LED
	EX
	FB LED
	FC
	FC LED
	FG
	FG LED
	FR LED
	GN
	G-RISER
	GT
	HC LED
	HP-48
	JB LED
	JS LED 
	KG LED
	LB
	LC LED
	LE LED
	LF LED
	LL LED
	LM
	LM LED
	LO
	LP
	LR 
	LS
	LX
	LZDC
	MD
	ML
	MM
	MO LED
	MP
	M-PJ LED
	M-PK LED
	M-PL LED
	M-PZ LED
	MR-16 Eco Lamp Chart
	MR LED
	MS LED
	MU
	NL LED
	NP LED
	NR LED
	PB
	PD
	PD LED
	PE LED
	PF
	PF LED
	PL
	PL led
	PM
	PM LED
	PO LED
	PR
	P-RISER
	PS LED
	PV
	PX
	QB LED
	QF
	QL LED
	QZ LED
	RC
	RL
	RP
	RS
	RW
	SC
	SC LED
	SI
	SL
	SL LED COMPONENTS
	SM
	SP
	SP-A
	TC
	TD
	TD LED
	TE
	TM
	TM LED
	TS
	UN
	UN LED
	VE LED
	VL LED
	VS LED
	WS

